
UA Ø175 / Ø219 MAST SECTION

M8 FIXING SCREWS

Ø76 TOP SPIGOT ASSEMBLY

POLE CAP
( POLYURETHANE SEALANT)

Ø60 CURVED CCTV ARM ASSEMBLY
POWDER COAT FINISH RAL 9006WIRING ACCESS

WELD
(INSIDE)

Ø60 CAP

1.5" NPT BOSS

M8 GRUB SCREWS

Ø89 x 5.3 mm SLEEVE

Ø80 CAP (RTRi 5590)

C.O. No.ISSUE REVISION LOCATION BY DATE

PROJECT

PART No.

CURVED CCTV ARM 2023

MULTI-FUNCTION POLES UA-0985

 

AC 14/12/22

0 1mm

0 50mm

0 25mm

15 MINUTES (0.25°)

DIMENSION TOLERANCES UNLESS OTHERWISE SPECIFIED

DIMENSIONS IN MILLIMETRES

THIRD ANGLE PROJECTION

DO NOT SCALE DRAWING

1 PLACE DECIMAL 0 0

2 PLACE DECIMAL 0 00

ANGULAR

0 PLACE DECIMAL 0

SHEET

_

_

+

_

+

+

_

+

ITEM No.

DATE

DATE

DATE

DATE

DRAWN BY

CHECKED BY

APPROVED BY

QUALITY APPROVED BY

D0CUMENT No.

DISC FILE No.

DATE RELEASED

ISSUE

SCALE

TITLE

SHEET No.

DRAWING No.

COPYRIGHT URBAN ALUMINIUM 2022
Urban Aluminium Pty Ltd
www.urban-al.com.au
info@urban-al.com.au

Unit 30, 1 Talavera Road Macquarie Park
NSW 2113 AUSTRALIA
Tel. +612 8921 5400



NOMINAL ARM LENGTH
DIMENSION A

UA BANNER/CCTV BRACKET
Ø60 CCTV ARM

1.5" NPT THREAD

M10 SCREW

M10 SCREW

UA MAST

UA DOVE TAIL TRACK

BRACKET ENGAGEMENT

SIDE

BOTTOM

END

CCTV CAMERA AND NPT ADAPTER
by others

CABLE MANAGEMENT
EYE BOLT

VENT SLOTS

CABLE GLAND

CAP

TIGHTEN M10 SCREWS 25 - 30 Nm
INCREMENTALY BOTH SIDES

ASSEMBLY OF CCTV ARM TO MAST

C.O. No.ISSUE REVISION LOCATION BY DATE

PROJECT

PART No.

CCTV ARM ASSEMBLY 60

MULTI-FUNCTION POLES UA-0766

 

AC 14/02/22

0 1mm

0 50mm

0 25mm

15 MINUTES (0.25°)

DIMENSION TOLERANCES UNLESS OTHERWISE SPECIFIED

DIMENSIONS IN MILLIMETRES

THIRD ANGLE PROJECTION

DO NOT SCALE DRAWING

1 PLACE DECIMAL 0 0

2 PLACE DECIMAL 0 00

ANGULAR

0 PLACE DECIMAL 0

SHEET

_

_

+

_

+

+

_

+

ITEM No.

DATE

DATE

DATE

DATE

DRAWN BY

CHECKED BY

APPROVED BY

QUALITY APPROVED BY

D0CUMENT No.

DISC FILE No.

DATE RELEASED

ISSUE

SCALE

TITLE

SHEET No.

DRAWING No.

COPYRIGHT URBAN ALUMINIUM 2022
Urban Aluminium Pty Ltd
www.urban-al.com.au
info@urban-al.com.au

Unit 30, 1 Talavera Road Macquarie Park
NSW 2113 AUSTRALIA
Tel. +612 8921 5400


